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1-         لتكن ق ( س ) =  {
: س ( 1

وكانت نهـــــا ق ( س ) = 4  ، نهــــــا ق ( س ) = 2     فاوجد قيمتي  أ   ،    ب

أوجد     نهـــــــــــــــــــــــــــا     س4  ــ  6 س3  +  5 س2  +  س  ــ  1  
           س                  1                     س2   +   س   ــ  2 


.................................................................................................................................


أوجد        نهــــــــــــــــــــــــــــــــا   (        س2   +  5 س      ـــ   س    
               س                     œ 

...............................................................................................................................

إذا كانت   ق  ( س ) =    أ   س  ــ  3    +  ب س         ،   نهــــــــا  ق ( س )   =  1  

                                       س   +   1                      س        ــ œ    

  ،  نهــــــــا ق ( س )  =  ــ 3                    فما قيمة أ ، ب     
س             2
س       ( 





س     -  - ( 





أ س  +  3 


2 س  -  1





ب س + 1 


3 س  + 2 





: س > 1








